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SECTION-II

Q. No. 6

.No.7 :
? A concert hall 400 seats of which 325 are occl-lpied. Express the attendance at a percent of capacity.
If 30-persons use 40kg of sugar in 10 days. Find in how many days 80-persons will use 320kg of sugar?
A crow travels south 5km, and then 3km west, and then 4km north. Finally travels 2km south-east. How far is
the crow from initial point?
If radius of a cylinder is 10cm and height is 36¢cm. Find the volume of cylinder.

a.
b.

C.

d.

A farmer cuts a 300 ft. fence into two pieces of different sizes. The longer piece should be four times as
long as the shorter piece. How long are the two pieces?

If a rectangle has a length that is three more than twice the width and the perimeter is 20-inches, what are
the dimensions of the rectangle?

A cricket team won 60% of the total matches it played during the year. If it lost 24 matches in all and no
matches were drawn, find the number of matches played during the year.

Two numbers are in the ratio 3: 2. If 2 is added to the first and 6 is added to the second number, they are in
the ratio 4: 5. Find the numbers.

A card is drawn at random from a box containing 12 cards numbered 1,2,3,4,5,....,12. Find the probability of

drawing (i) ‘8’, (ii) an even number, (iii) a perfect square, (iv) a negative number and (v) a number less than
13.

Calculate the total arca and perimeter of the given shape.
12Cm




d. It radus ot a cylinder is 10em and height is 36¢m. Find the volume of cylinder.

e o \

Q. No. 8

a

A card 1s drawn at random from a box containing 12 cards numbered 1,2,3.4.5......12. Find the probability of
drawing (1) 8", (1) an even number, (iii) a perfect square, (iv) a negative number and (v) a number less than
13

Calculate the total area and perimeter of the given shape.

12Cm
F J—

'
15Cm .
'
|
'

-
L |

There are nine students in a group having ages 15, 15, 16, 16, 16, 17, 17, 18, 19. Calculate mean, medium,
mode and range of their ages, also define the above mentioned terms.

*xk** Good Luck for CSS2024%%***
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